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Questions

Who suggested that most of the atom is located in the nucleus?

The Arabian Sea lies to its

Balochistan lies to its

On the East, it has common border with

Sindh Occupies the part of Pakistan.

Which of the following colours in the visible spectrum has maximum range?

The population of Sindh is percent of the total population of Pakistan.

The area of Sindh is

percent of the total area of Pakistan.

The area of Sindh is square kilometers.

Sindh is the largest province of Pakistan and second largest in Population

Isotopes are separated by:

There are districts in Punjab.
The population of Punjab is percent of the total population of Pakistan.
The area of Punjab is percent of the total area of Pakistan

The area of Punjab is square kilometers.

Answers Choice

A
. Rutherford&nbsp;
. Thompson&nbsp;
. None of these

D.

Ow> DOW > UOWr DOW> UOWP» UOWP UOWr U0Wr U0W» UOWP U0Wr U0Wr U0U» OU0WP» U0w

Bohr&nbsp;

. East
. West

North

. South

. East

West
North
South

India

Iran

China
Afghanistan

South-eastern
South-western
North-eastern
North-western

Violet&nbsp;
Indigo&nbsp;
Red&nbsp;
Orange

140,914
240,914
340,914
None of these

Second
Third
Fourth
Fifth

. Filtratiom
. Distillation
. Sublimation&nbsp;

None of these

36
40
44
48

56
58
60
None

26

30
34
38

205,345
405,345
605,345
805,345
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Which of the following is used as a moderator in nuclear reactor?

Punjab is the area wise?

Jammu and Kashmir lies to its

Khyber Pakhtunkhwa lies to its .

Sindh lies to its .

On the east, it has common border with

Atoms are composed of:

Punjab occupies the part of Pakistan.

There are districts in Balochistan.

Which of the following has the least penetrating power?

the population of Balochistan is percent of the total population of Pakistan.

Balochistan is percent of the total area of Pakistan.

The area of Balochistan is square kilometers.

mention the discoverer of chloroform.

Balochistan is the province of Pakistan

name the discoverer of chlorine.

Atom bomb is based on the principle of:

Khyber Pakhtunkhawa and FATA lies to its

w» DOwWr

OW>» DOTP DOWE O

ow» CDowmp

ow» Uowp

DOm> DOW

Om » DOTP» DOEF DOW

Ow>

wW> UOw>

Ordinary water
Radium&nbsp;

Thorium&nbsp;

Largest
Smallest

Third largest
East

South
West

East

North
South

East
West
North&nbsp;

China

Iran

None of these
Electrons&nbsp;
Protons&nbsp;
Neutrons&nbsp;
North western

North southern
North

24
26
28

Beta particles
Gamma rays
None of these

348,190
349,190
346,190
hahn

hoist
colt

Small

. Smallest
. Large

freud
dohl
fermi

. Nuclear fusion&nbsp;

. Both (a) and (b)
. None of these

East

. West
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carbon dioxide was discovered by:

Punjab lies to its

Sindhlies to its

It has common border with Afghanistan and

calculus was discovered by:

point out the Wilson's discovery.

Balochistan occupies the part of Pakistan

The 24th Amendment is about

The 23rd Amendment is about

The 22nd Amendment is about

Radioactive disintegration of uranium ultimately results in formation of:

The 21st Amendment is about

D. south

A. harvey
B. newton

D. soddy

B. South-west
C. South-north
D. South-east

B. <p class="MsoNormal">North-
east<o:p></o:p></p>
C. <p class="MsoNormal">South-
west<o:p></o:p></p>
D. <p class="MsoNormal">South-
north<o:p></o:p></p>

A. China
B. India

D. Tajikistan
harvey
spenser
plato

chlorine

electron
chloroform&nbsp;

East western

East southern
West&nbsp;southern

DOU> DOWP» TOWw

Kashmir resolution
Minority rights
Prison act.&nbsp;

oow

International Trade
Blasphemy
Drug addiction

oow

Minority rights
Domestic Torture
Labour rights.&nbsp;

Radium&nbsp;
Thorium&nbsp;

DOW» DOW

Polonium

Labour rights
Population welfare
Blasphemy

ocow



